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SCORE SHEET

Player 1 | Player 2 | Player 3 | Player 4 | Player 5 | Player 6
= Sopts | [J[[A
El _ 100 pts El = 1500 pts
CII[] = 1000 pts 3 Pairs = 1500 pts
LILIL] = 200 pts 2 Triplets = 2500 pts
F[EE] = 300 pts 4 of a Kind = 1000 pts
][] = 400 pts 5 of a Kind = 2000 pts
= 500 pts 6 of a Kind = 3000 pts
= 600 pts 3 Farkles in a Row = Lose 1000 pts
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SCORE SHEET

Player 1 Player 2 Player 3 Player 4 Player 5 Player 6
= Sopts | [[[A
El _ 100 pts El = 1500 pts
C1I[] = 1000 pts 3 Pairs = 1500 pts
LILIL] = 200 pts 2 Triplets = 2500 pts
F[EE] = 300 pts 4 of a Kind = 1000 pts
][] = 400 pts 5 of a Kind = 2000 pts
= 500 pts 6 of a Kind = 3000 pts
= 600 pts 3 Farkles in a Row = Lose 1000 pts
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